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Γ1.  

𝑃𝑠1 = 𝑈1𝐼1 ⇒ 𝑈1 =
𝑃𝑠1

𝐼1
=

2000

8
= 250𝑉 

Γ2. 

𝑘 =
𝑈1

𝑈2
⇔

1

4
=

250

𝑈2
⇒ 𝑈2 = 4 ∗ 250 = 1000𝑉 

Γ3. 

Λόγω αμελητέων απολειών: 

𝑃𝑠1 = 𝑃𝑠2 = 2𝑘𝑉𝐴 

 

𝑃𝑠2 =
𝑈2

2

𝑍
⇒ 𝑍 =

𝑈2
2

𝑃𝑠2
=

10002

2000
=

106

2 ∗ 103
=

1000

2
= 500𝑘𝛺 

ή 

𝑘 =
𝐼2

𝐼1
⇔

1

4
=

𝐼2

8
⇒ 𝐼2 =

8

4
= 2𝐴 

𝑍 =
𝑈2

𝐼2
=

1000

2
= 500𝑘𝛺 

Γ4. 

𝑃2 = 𝑃𝑠2 ∗ 𝜎𝜐𝜈 𝜑 = 2000 ∗ 0,8 = 1600𝑊 = 1,6𝑘𝑊 

 



 

http://imarinakis.mysch.gr/ 
 

Γ5. 

𝑃𝑠2
2 = 𝑃2

2 + 𝑃𝑏2
2 ⇒ 𝑃𝑏2

2 =  𝑃𝑠2
2 − 𝑃2

2 =  22 − 1,62 =  4 − 2,56 =  1,44 𝑘𝑉𝐴𝑟 = 1,2𝑘𝑉𝐴𝑟 

ή 

𝜂𝜇𝜑 =  1 − 𝜎𝜐𝜈𝜑2 =  1 − 0,82 =  1 − 0,642 =  0,36 = 0,6 

𝑃𝑏2 = 𝑃𝑠2 ∗ 𝜂𝜇𝜑 = 2000 ∗ 0,6 = 1200𝑉𝐴𝑟 

 

 

 

Δ1. 

𝑃1 = 𝑈𝜅𝐼𝜅 = 250 ∗ 40 = 10000𝑊 = 10𝑘𝑊 

Δ2. 

Η Ισχφς εξόδου του κινητήρα είναι η ισχφς εισόδου της γεννήτριας: 

𝑃𝜀𝜄𝜎 = 𝑃 

𝜂𝜅 =
𝑃

𝑃1
=

𝑃𝜀𝜄𝜎
𝑃1

⇒ 𝑃𝜀𝜄𝜎 = 𝜂𝜅𝑃1 = 0,75 ∗ 10 = 7,5𝑘𝑊 
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Δ3. 

𝜂𝛾 =
𝑃

𝑃𝜀𝜄𝜎
⇒ 𝑃 = 𝜂𝛾𝑃𝜀𝜄𝜎 = 0,8 ∗ 7,5 = 6𝑘𝑊 = 6000𝑊 

 

 

Δ4. 

𝑃 = 𝑈𝑁𝐼𝜑 ⇒ 𝑈𝑁 =
𝑃

𝐼𝜑
=

6000

30
= 200𝑉 

Δ5. 

𝜀 % =
𝑈0 − 𝑈𝑁

𝑈𝑁
100 ⇔ 5 =

𝑈0 − 200

200
100 ⇔ 10 = 𝑈0 − 200 ⇒ 𝑈0 = 210𝑉 


